NOTICE

"The purchaser agrees when
purchasing this plan (the “Plan”):

1) the purchaser has acquired the
ight to build or construct the

Easy Wood Plans

(the "Project”) for his/her/its
personal use only and not for

any commercial use,

2)" reproduction of the Plan in whole
or in part by any means whatsoever is
strictly prohibited.

UW Blueprints For The Handyman

shall not be liable for any willful
misuse or nagligent use of this plan,
the Project or any tools used to
construct the Project or for any
loss or damage resulting therefrom.”

www.easywoodplans.com

#7B, 2316-27Ave N.E.
Calgary, Alberta
Canada, T2E 7A7

Note: Read all directi before beginning
Carpenters glue should be used to
reinforce all joints
Countersink all screw holes
Dimensions in brackets denote

Directions

1) Lay out your material on your workbench, or on sawhorses, as outlined in
the suggested cutting diagram (Fig 1). Draw out all parts exactly as
illustrated in cutting diagram (Fig 2), including the letter
designations, in pencil. Ensure to leave a small space between cut lines
to allow for the width of the saw. Before cutting, double check all
measurements to ensure they are correct. Always cut on the waste side of
the line. The notches can be cut with either a jigsaw, or tablesaw, or
handsaw and chisel. If you cut with a handsaw, cut to the base line and
then carefully chisel out the notch. Dry fit all notches to ensure a
snug fit before gluing. Wipe off any excess glue at each stage of the
project.

2) Predrill holes with 1/8" drill bit in pieces C and D as shown (Fig 2).
Trim the ends at a 45 degree angle and sand to a smooth radius.
Countersink on radius side.

3) Dry fit pieces A & B together as shown (Fig 3). Plane or sand to ensure
they fit snugly. Glue and clamp A & B with two 24" pipe clamps ensuring
joints are flush all the way along. Install pieces C & D as shown (Fig
3) by screwing in 1 1/4" #6 flathead screws. Wipe off any excess glue
and set aside to dry one hour. Repeat operation for remaining shelves.

4) Cut notches in legs as shown (Fig 4). To cut the notches in pieces E,
measure the thickness of pieces AB, it should be 3/4". If it is smaller
or larger, change the width of your notches accordingly. Cut the notches
on the inside of the lines, and clean the notch with a hand chisel.
Drill @ 3/8" hole, 1 1/2" deep into the center of the top of each piece
E. Drill a 3/8" hole 1/2" deep into the bottom of the top AB shelf for
dowel as shown (Fig 3). Cut the notches in two AB shelves as shown (Fig
3). Dry fit pieces AB to ensure a snug fit. Optionally you may use
prelaminated wood or plywood hardwood and edge trim. Plywood method
requires 6’ of edge trim per shelf.

5) Measure the cardboard trammel and insert the holes where shown (Fig 5).

6) Lay the trammel on the shelf as shown (Fig 6). Draw the in arc by
tacking a 2" finishing nail into a surface, fitting the shelf so that
the upper left corner is flush with the nail, and moving the trammel to
create the arc. Next, move the shelf so that the upper right hand part
of the arc aligns with the nail, and find where the original arc
intersects with a smaller arc created by the hole in the trammel at 7"
Repeat this process to find a second intersection point by moving the
shelf so that the nail is on the lower left of the shelf. Remove the
nail, and find the middle intersection point by lightly tacking the nail
onto one of the interior intersection points and intersecting the
original arc with a 7” arc. This middle intersection point should be
the same regardless of which middle intersection point you use for the
radius of the trammel. Draw lines between these intersection points and
cut the shelf accordingly. Cut the notches in AB as shown in Fig 3.

7) Pre—drill holes in pieces E with a 1/8" drill bit. Centering two holes
in lower notch(es) (Fig 7). Dry fit the shelves AB and legs E together.
Drill pilot holes into shelves AB with a 1/16" bit through the 1/8"
holes previously drilled. Countersink with the countersink bit in the
unnotched side. Apply glue to and insert dowels in pieces E and apply
glue to dowel holes in AB. Glue and screw shelves AB to legs E with
1 1/4" #6 flathead screws.

8) Sand entire project, stain & finish to your preference and allow to dry.
Fill exposed nail and screw holes, if any, with filler mixed with stain
to match dry stained project, or colored putty. Apply final finish to
manufacturer’s instructions. If you are going to paint the project, fill
exposed nail and screw holes with a suitable filler and sand. Apply
paint to manufacturer’s instructions. Do not use leaded paint for
projects that will be around young children.

~
abject or project set out in the Plan _MH
T

A A 1 A [ B [ B [ B J

A A 1 A [ B [ B [ B J

18" _ 18" _ 18" _ _m._ 16" _

@57) | (457) | (a08) ' (406) '

17_1/4"
(438)
E

17 1/4"
(438)
E

17_1/4"
(438)
E

One

CUTTING DIAGRAM
FIGURE 1

11/2" 5 1/2" 2 1/4"1 1/2"

(38) (140)

- y SAND

1.1/27 5 1/2" 3*
(38) (140 ) (76)

4 3/4"
(121 )

JOINER DETAIL

1 2 X 2 6" LENGTH

(57 GO cur

R=3/4" (19)
- 8

TWO 1 X 4 10" LENGTH

PIECES C &
BOTH 3/4"

WIDE

D
(19)

-
(178)

One

2 x 20
Cardboard

18"

(457)

NAIL = PENCIL

TRAMMEL
FIGURE 5

STEP 2

STEP 3

w .
STEP 4

— NAIL

3/8" (10)

]

FIGURE 2 AT
187 3/4" (19) |

E

3/4" (457) 3/4"
VAL VAL
D) (191)
3/4 11/2° 27
(19) (38 (G

E —

18"
(457)

1172
(38)
)

o
(51)

DETAIL OF
LEG DRILLING
FIGURE 7 E

M A M [ (19) NOTE:

- ) /\/ NOTCHES NOT CUT INTO
THE TOP SHELF

(DRILL BLIND HOLES TO

D| A i MATCH HOLES IN TOP OF LEGS)

7 1/4"

A

ARC CUTTING
FIGURE 6

3/8" X 2" LONG DOWEL

\I._.:mmm REQUIRED
0
E

=

N

EXPLODED VIEW

3/4" (19)

SHELF DETAIL BORE CENTER OF LEG

(184)

FIGURE 3 3/8° x 1 1/2" DEEP—— |

FOR 3/8" DOWEL

|

168 1/2" —

1.1/2" (38) l* —l
s

(419)

DETAIL OF LEG
FIGURE 4

TWO0 SHELF TABLE
COMPLETED PROJECT

CORNER TABLES — Project #318

MATERIALS LIST (TWO SHELF TABLE)

Approx. Twenty Eight 1 1/4" #6 flathead screws
A 2°x20" piece of cardboard
Two 10° 1x4 (3/47 x 3 1/27)
One 6" 2x2 (1 3/4" x 1 3/4%)
Three 3/8" x 2" dowels
Interior stain, varnish, or oil
Sandpaper & Carpenters glue

MATERIALS LIST (THREE SHELF TABLE)

Approx. Forty Two 1 1/4" #6 flathead screws
A 2"°x20" piece of cardboard
Three 10" 1x4 (3/4" x 3 1/2
One 7' 2x2 (1 3/4" x 1 3/4

Three 3/8" x 2° dowels
Interior stain, varnish, or oil
Sandpaper & Carpenters glue

TOOLS

Hand plane
Table Saw
Wood chisel
Hand or power d
1/8", 3/8" and countersink drill bit

ToOLS

Screwdriver
Hammer
Two 24" pipe clamps
Pencil & measuring tape
Putty knife




